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#include"bits/stdc++.h"

using namespace std;
intN, A, B, C, D, a[101]={}, b[101]={}, c[101]={}, d[101]={};
int main(){
scanf("%d%d%d%d%d", &N, &A, &B, &C, &D);
for(int i=0; i<A; i++) scanf("%d", a+i);
for(int i=0; i<B; i++) scanf("%d", b+i);
for(int i=0; i<C; i++) scanf("%d", c+i);
for(inti=0; i<D; i++) scanf("%d", d+i);
if((A+B+C+D)%3 == 0 && (A+B+C+D)/3 == N && dp(0, 0, 0, 0)){
printf("%s¥n", "Yes");
restore(0, 0, 0, 0);
}

else printf("%s¥n", "No");
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bool visited[101][101][101][101]={}, memo[101][101][101][101]={};

vector<int>v={1,2,3}, tmp;

booldp(inti,intj, intk, int [){
if(i==A && j==B && k==C && |==D) return true;
if(visited[i][jl[k][l]) return memol[i][j][kI[l];
tmp.clear();
tmp ={ a[i], b[j1, c[k] }; sort(tmp.begin(), tmp.end());
if(v==tmp) memol[i][jl[K][l] |=dp(i+1,j+1, k+1,);
tmp.clear();
tmp ={ali], b[j], d[l] }; sort(tmp begin(), tmp.end());
if(v ==tmp) memoli][jI[k][l] |- dp(i+1,j+1, k, l+1);
tmp.clear();
tmp ={ a[i], d[l], c[k] }; sort(tmp.begin(), tmp.end());
if(v==tmp) memol[il[jl[KI[l] |=dp(i+1,], k+1, |+1);
tmp.clear();
tmp ={d[l], b[j], c[k] }; sort(tmp begin(), tmp.end());
if(v==tmp) memo[ (] ]=dp(i, j+1, k+1, 1+1);

return memoli][jl[Kk][l];

void restore(inti, intj, int k, int [){
if(i==A && j==B && k==C && |==D) return;
tmp.clear(); tmp ={ a[i], b[j], c[k] }; sort(tmp.begin(), tmp.end());
if(v==tmp &&dp(i+1, j+1, k+1, 1)){
printf("4¥n"); restore(i+1, j+1, k+1,1); return;

}
tmp.clear(); tmp ={ a[i], b[j], d[l] }; sort(tmp.begin(), tmp.end());
if(v==tmp && dp(|+l,J+l, K, 1+1)){

printf("3¥n"); restore(i+1, j+1, k, [+1); return;
}
tmp.clear(); tmp ={ a[i], d[l], c[k] }; sort(tmp.begin(), tmp.end());
if(v==tmp && dp(i+1, j, k+1, [+1)){

printf("2¥n"); restore(i+1, j, k+1, [+1); return;
}
tmp.clear(); tmp ={ d[l], b[j], c[k] }; sort(tmp.begin(), tmp.end());
if(v==tmp &&dp(i, j+1, k+1, [+1)){

printf("1¥n"); restore(i, j+1, k+1, [+1); return;
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